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Some people think that social skills are as important as academic qualifications. To

what extent do you agree or disagree?

Traditionally, academic achievements are often regarded as an indispensable factor for
success. However, there are a handful of individuals hold the belief that the art of social
interaction also shares equal importance in determining one’s success in life. My
sentiment is on par with this viewpoint, and some of my good grounds will be presented

in the essay below.

It is conspicuous that academic qualifications are of great significance when comes to
seeking employment. Undoubtedly, academic qualifications reflect a person’s
educational background and personal experiences. This usually lays a foundation for an
overall evaluation of any candidate. Based on what is written and listed in those
certificates and degrees, recruiters would select the most appropriate one to join their
organizations. In other words, educational achievements can exert a tremendous impact

on the judgment of the employers who are looking for potential white-collar workers.

Simultaneously, it cannot be denied that the art of social interaction plays a pivotal role
in one’s success as well. In actual fact, in this day and age, having a high level of social
skills is considered to be a strength in the workplace. This is due to the fact that managers
often put an emphasis on the ability of coordination, cooperation, and communication
to enhance efficiency. A salient example of this is the solidarity of the staff within an
office, which would foster a positive attitude towards work and a sense of community,

leading to a sense of self-satisfaction

from their job.
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To conclude, in a society in which people are becoming increasingly interdependent,

one cannot succeed with mere qualifications. Thus, social interaction paves the way for

a person to advance in his career as well. (280 words)
Cac cum tir cin nhé

e Dbe regarded as: dugc danh gid 1a

e indispensable(ad;j): khong thé thiéu

o the art of social interaction: ngh€ thuat tuong tac xa hoi

e share equal importance: c6 cung sy quan trong

e My sentiment is on par with: Quan diém cta toi giéng voi
e conspicuous(adj): r0 rang

e educational background: nén tang hoc van

e exert a tremendous impact on: tao mét tac dong 16n 1€n

e pivotal(adj): cuc ky quan trong

e put an emphasis: dat ning

We have become a disposable society, preferring to buy new products rather than repair

existing items.
Why do you think this is? How can this trend be reversed?

It has become common not to try to extend the life of items but rather to purchase
replacements, and this can be attributed to a number of social changes, as will now be

presented along with some thoughts on how this attitude can be altered.

Of the many reasons why society in general opts not to repair items, perhaps the most

influential is changes in technology. Modernised production methods allow goods to be
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mass produced at a lower cost, but often at the expense of quality; this means that
although they may not have the durability of handmade items, they are cheaper and thus
can be replaced. In addition, evolutions in technology are now rapid, and the impulse to
own the latest gadget encourages purchasers to continually buy new items. A clear
indication of this is mobile phones, where in the last decade new features and abilities are

released constantly.

To address this, there are a number of potential approaches. One is that governments could
raise the level of tax on brand new items whilst lowering the taxation on repair shops,
therefore supporting those who are happy with their existing technology and penalising
those who constantly race to acquire the very latest model. In turn, this would encourage
the companies producing such items to build them in a way that new developments can

be incorporated into it, rather than requiring it to be disposed of.

To conclude, it is only by a change in attitude that we can decrease the
continued consumption of new items and increase the retention of those that may

need some repair.
(273 words)
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e extend the life of items: kéo dai tudi tho ctia san pham

e purchase replacements: mua san pham thay thé

e modernised production methods: phurong phap san xuat hién dai
mass produce: san xuét hang loat, san xuét s lugng 16n

e durability(n): sy bén (ctia san pham)

e impulse(n): hung phan, hing
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In some countries, people who are unemployed receive a sum of money each week in
the form of a benefit. While some support this, other people believe that this money

should not be given.
Discuss both points of view and give you own point of view.

The payment of a benefit for those who are out of work is a sensitive issue with strong
opinions for and against. This essay will now examine both sides of the argument and

present a final conclusion.

Those in favour of this financial support argue that in some cases, it is not the fault of the
unemployed person, and that the assistance is needed for them to survive while they
continue to look for work. Without this, there is the potential concern that crime would
increase due to a lack of alternatives. To illustrate, if a parent with dependent children
could not find work and had no other help, they would have little option but to resort to
theft to prevent their children from going hungry. On the other hand, there are those that
argue that paying someone who does not work simply encourages people to remain
unemployed, especially when the alternative could be a relatively low paid job. There
are situations where people are simply not interested in finding a position of employment
as it offers very little additional money compared to doing nothing at home and receiving
free handouts. This situation could escalate as people who are on a low income
may resent paying a portion of their tax payments to support those who make little or no

effort to find employment.

Considering both points of view, it seems that a compromise may be the best solution.
Payment of the unemployment benefit should be limited to a short period of time, after
which the amount received should be progressively reduced. This would encourage those

receiving the benefit to be more proactive when looking for work.
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Cac cum tir cAn nhé

e be out of work: that nghiép

e resort to: tim dén cai gi nhu 14 lya chon cudi cing

e remain unemployed: giit nguyén tinh trang that nghiép

e escalate(v): leo thang

e Considering both points of view: Khi c4n nhic ca hai quan diém

proactive(adj): chu dong

We cannot help everyone in the world that needs help, so we should only be concerned

with our own communities and countries.
To what extent do you agree or disagree with this statement?

Some people believe that we should not help people in other countries as long as there
are problems in our own society. [ disagree with this view because I believe that we should

try to help as many people as possible.

On the one hand, I accept that it is important to help our neighbours and fellow citizens.
In most communities there are people who are impoverished or disadvantaged in some
way. It is possible to find homeless people, for example, in even the wealthiest of cities,
and for those who are concerned about this problem, there are usually opportunities to
volunteer time or give money to support these people. In the UK, people can help in a
variety of ways, from donating clothing to serving free food in a soup kitchen. As the
problems are on our doorstep, and there are obvious ways to help, I can understand why

some people feel that we should prioritise local charity.
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At the same time, I believe that we have an obligation to help those who live beyond our
national borders. In some countries the problems that people face are much more serious
than those in our own communities, and it is often even easier to help. For example, when
children are dying from curable diseases in African countries, governments and
individuals in richer countries can save lives simply by paying for vaccines that already
exist. A small donation to an international charity might have a much greater impact than

helping in our local area.

In conclusion, it is true that we cannot help everyone, but in my opinion
national boundaries should not stop us from helping those who are in need. (280 Words)

Band 9
Cac cum tir cAn nhé

e impoverished(adj): nghéo doi
e disadvantaged(adj): thi¢t thoi
e on our doorstep: ngay trudc mat chiing ta

e prioritise(v): uu tién

In recent years, there has been growing interest in the relationship between equality
and personal achievement. Some people believe that individuals can achieve more in
egalitarian societies. Others believe that high levels of personal achievement are
possible only if individuals are free to succeed or fail according to their individual

merits. What is your view of the relationship between equality and personal success?

In my opinion, an egalitarian society is one in which everyone has the same rights and
the same opportunities. I completely agree that people can achieve more in this kind of

society.
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Education is an important factor with regard to personal success in life. [ believe that all
children should have access to free schooling, and higher education should be either free
or affordable for all those who choose to pursue a university degree. In a society without
free schooling or affordable higher education, only children and young adults from
wealthier families would have access to the best learning opportunities, and they would
therefore be better prepared for the job market. This kind of inequality would ensure the

success of some but harm the prospects of others.

I would argue that equal rights and opportunities are not in conflict with
people’s freedom to succeed or fail. In other words, equality does not mean that
people lose their motivation to succeed, or that they are not allowed to fail. On
the contrary, I believe that most people would feel more motivated to work hard
and reach their potential if they thought that they lived in a fair society. Those who did not
make the same effort would know that they had wasted their opportunity. Inequality, on
the other hand, would be more likely to demotivate people because they would know that

the odds of success were stacked in favour of those from privileged backgrounds.

In conclusion, it seems to me that there is a positive relationship between equality and

personal success.
(260 Words) Band 9
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e egalitarian society: xa hoi cong bang

e free schooling: gido duc mién phi

e learning opportunities: cac co hdi hoc tap

e harm the prospects: lam ton hai dén kha ning phat trién
e in conflict with: xung dot, d6i nguoc véi

e demotivate(v): lam nan long

e privileged(adj): c6 diéu kién, dic quyén
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In the developed world, average life expectancy is increasing. What problems will
this cause for individuals and society? Suggest some measures that could be taken

to reduce the impact of ageing populations.

It is true that people in industrialised nations can expect to live longer than ever before.
Although there will undoubtedly be some negative consequences of this trend, societies
can take steps to mitigate these potential problems. As people live longer and the
populations of developed countries grow older, several related problems can be
anticipated. The main issue is that there will obviously be more people of retirement age
who will be eligible to receive a pension. The proportion of younger, working adults will
be smaller, and governments will therefore receive less money in taxes in relation to the
size of the population. In other words, an aging population will mean a greater
tax burden for working adults. Further pressures will include a rise in the demand
for healthcare, and the fact young adults will increasingly have to look after their elderly

relatives.

There are several actions that governments could take to solve the problems described
above. Firstly, a simple solution would be to increase the retirement age for working
adults, perhaps from 65 to 70. Nowadays, people of this age tend to be healthy enough to
continue a productive working life. A second measure would be for governments to
encourage immigration in order to increase the number of working adults who pay taxes.
Finally, money from national budgets will need to be taken from other areas and spent on
vital healthcare, accommodation and transport facilities for the rising numbers of older

citizens.

In conclusion, various measures can be taken to tackle the problems that are certain to

arise as the populations of countries grow older.

(265 words)
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mitigate(v): giam thiéu, giam su trAm trong ctia van dé
anticipate(v): luong trude

eligible(adj): hop phap

a greater tax burden: mot ganh ning 16n vé thué

encourage immigration: khuyén khich nhap cu



